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QUESTION 1

What causes the SIP Early NAT chain module to appear in the chain?
A. The SIP traffic is trying to pass through the firewall.

B. SIP is configured in IPS.

C. A VOIP domain is configured.

D. The default SIP service is used in the Rule Base.

Correct Answer: D

QUESTION 2

Using the default values in R77 how many kernel instances will there be on a 16-core gateway?
A. 16

B. 8

C.12

D. 14

Correct Answer: D

QUESTION 3

Which command can be used to see all active modules on the Security Gateway:
A. fw ctl zdebug drop

B. fw ctl debug -h

C. fw ctl chain

D. fw ctl debug -m

Correct Answer: C

QUESTION 4

Server A is subject to automatically static NAT and also resides on a network which is subject to automatic Hide NAT.
With regards to address translation what will happen when Server A initiates outbound communication?

A. This will cause a policy verification error.
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B. This is called hairpin NAT, the traffic will return to the server.
C. The static NAT will take precedence.
D. The Hide NAT will take precedence.

Correct Answer: C

QUESTION 5

What file contains IKEv2 debug messages?
A. $FWDIR/log/ikev2

B. $FWDIR/log/ike.xml

C. $FWDIR/log/vpnd.elg

D. $FWDIR/log/ike.elg

Correct Answer: A
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